102

@110

D O O O O 0O 0O 0O 0O O O O
D O O 0O O 0O 0O 0O 0O 0O O O]

sl

TOH
1
/l
Ul
|-
V
!

1240

1405

=0 O O O O O O O

@ODDDDDDDD@ .
L

—
f— ] —
w
ﬁ =
M
M
—

—
N
o
| <S> &
o O

260 (10|74 160 | 156
T
400
407

185

549

Blower Art# 1.2184.3.0C

In the interest of continuous improvement and upgrade of our products
Hortig reserves the right to change the technical specifications at any time,
without prior notice.

®

[1G rohrposi 84 Blower _Console Strut_Air Diverter 1/6

B> Air Tube Transport Syst;ams >

20.01.2023



400 102
S =" =6 o
(370)
=|g = 5] == © of
100
1240
1405 1398
(840)
| [ l————
115
(@] @]
] l
IEF I il Jﬂ
- = [ T [ [ ] ) an [ | an [ | :
y : 3 ? 275 | |
173 191,5 l 170
| ¢ ¢ i FFL
260 > 74| 160 | 156
400
d— " | 185>
4R
407 U
390

®

B> Air Tube Transport Systems »>

84 Blower_Console Concrete Wall_Air Diverter

21/6

20.01.2023




C(1:2)

20 | 28

=

_

Blower fixed to the strut
(4x) M10x16 Hex-head screw/Lock washer/Washer
(4x) M10x28 Rubber-Metal Buffer + M10 slide nut

A-A(1:4)

Blower standing on console

(or a base) —  Ll= Wf
(3x) M8x18 Rubber-Metal Buffer ? | ||
- || o
B ALK
®
116 rohrposi 84 Blower_Anchored to strut 316
B> Air Tube Transport Systems »>

20.01.2023



F(1:2)

20

28

@50

40

Blower fixed to the wall

(4x) M10x16 Hex-head screw/Lock washer/Washer
(4x) M10x28 Rubber-Metal Buffer + M10x40 dowel

N

D-D(1:4)

ggm

[ | ==

B> Air Tube Transport Syst;ams >

84 Blower_Anchored to wall

I I | f
J e e sh E
Blower standing on console ; = —
(or a base) 7
(3x) M8x18 Rubber-Metal Buffer 'D
407
1ORTIG rohrpost ‘6

20.01.2023




G-G(1:75)
- G
Olf ! 0
100 0 0
__ IO 0]/ -
1o o % == =]
\
108 d he ; ;
—H = T =
100
0 0
? R 0 0
68 Ol | 0
1405
Gap=40mm— 1?Or 1 vl - 10
Ui i
ol ! gl (840D
o rj »l‘ I ‘I*
0 T T 0
] i Ol/ LO
3 0 ]
] o) O
f l
/ Ve : Ve ‘ )
Zn I —
= [ [ oo _ -
T I H‘ T f 5] 1
170 | /o 173 | ° :
| b | H: F
- G
U FOIn] 84 Blower_Console_Air Diverter_Installation Details 516
B> Air Tube Transport Systems »>

20.01.2023




Air Diverter
1.2694.6.02

Blower_Air Diverter
Connection set
1.2184.6.80

Blower
1.2184.3.0C

ﬁo I Blower console set
1.2331.0.02

EIOR"G mhrPOSt 84 Blower_Console_Air Diverter / Article Numbers 6 /6

Air Tube Transport Systems »>

20.01.2023



